0000000 [

HVLG3522-2
VLG3622-2
VLG3722-2

000000000080x 25

6000 0000000040x 25

[T T
L

T

[sfsfs]sfs]s}s}u}sfsfs]s]

50000000000000

320
220

40p 4x 300000

46,46

[N

835 | 835 LZS
T

Oooooooooooo

HMVLG3526-2
VLG3626-2
VLG3726-2

1500 00000000030 25

[ IHINININEL NN

I 1

]
]

50000000000000

=

42

320

250

835 | 835 Lzs

@

40p 4x 300000

0poooooooog

HMVG3304-2
VG3404-2
VG3504-2
VG3604-2

Eil

5 00000000030x 25

50000000000000

32

OiE
(e

=

314
250

4l 4x 300000

MVG3306-2
VG3406-2
VG3506-2
VG3606-2

[32)

314

AlEla[E

32

. \

250

40 4x 300000

46 ;46 | 46 | 46
j—T—T—T—'-f 0
&
— Vv

00000000000

0
‘Iu = wlﬁ
|
7 350 7
0000000000000000000D0O0000D

C-242

 qp

Oooooooooooo

Ooooooog






